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A % E i B f =iE hiE =8 an % E i B4 =1E g RiE
LA L FiE 10 Kg 2,376 — 1,944|Z0ZAES A = 2 Kg — 2,700 —
MA LL BE 13X 151 — 140|ZBFESH L /3174 4 Kg — 3,240 —
M LL FIE 13 184 — 162|ZHFEH L FE 4 Kg — 3,024 —
[ZACLA M 3177 10 Kg 2,592 — 2484[xDFVE L TKIK 5 Kg 1,728 — 1,620
(CALA M FiE 10 Kg 2,700 — 2,592|&DFLVE L FiE 5 Kg 1,728 — 1,620
[ZACLA M EE 10 Kg 2,484 — 2,160[[ENL L& L % 10 Kg 3,564 — 3,456
ZIF5 ™M 5 4 Kg 1,080 756 540/l L& L BRE 10 Kg 3,564 — 3,456
(<Y 6E Ik 15 Kg 2,160 — 1,728( A= 1> L BERE 10 Kg 4,536 — 4,320
KZE =i 150 g 86 — 76[ KL E LL tiEE 10 Kg 5,076 3,240 3,024
INAEE = 250 g 86 86 54|f~FHE L dtiEE 20 Kg 3,456 — 3,240
FrRY L =971 10 Kg — 2,160 — |=FERE L &8 20 Kg 3,024 — 2,808
FoRY L FIE 10 Kg — 2,160 — HELWV=T = 100 g 162 — 140
FyRY L BN 10 Kg 2,592 — 2484(18Z S =i 100 g 54 — 49
F5NAE M =877 170 g 140 140 76(%HZ S L 100 g — 65 —
INQEFE = 100 g 119 97 86| ZDE1IT = I 200 g 76 — 70
‘h&E L = 5 Kg 2,160 — 1,620/ % L&HL =873 100 g 76 — 70
EhRE M 371 5 Kg 3,024 — 2,700(3850 AM BF 10 Kg 2,646 — 2,538
H1HDIE = 3 50 g 65 — 54
54 = 150 g 162 140 130
(25 L = 100 g 43 — 32
L) LL 5311 10 Kg — 4,968 —

FTRINSHR L LLif2 100 g — 194 —

H)I257— L 5371 6 Kg 2,592 — 2,160
LAX L BF 5 Kg 1,080 972 864
LA2X L /371 10 Kg 2,484 2,160 1,944
FoT YA =873 250 g 76 76 43
WwEL = 250 g 97 — 86
=Dl S = 5 Kg 1,836 — 1,620
MEHe 7F —a—P—35UK 10 Kg 2,376 1,944 1,620
Y M = A0 5 Kg 2,160 — 1,944
<k M = I 4 Kg 1,296 — 1,080
<k M R 4 Kg 1,404 — 1,080
il v SV BEAR 3 Kg 1,620 — 1,404
E—<> M Ik 150 g 119 — 108
SPZAES A = 1 Kg — 1,512 —

(2) R = R

R 2 E i B 4 &iE PiE ZiE  x
R—TNALUY [ TA)H 17 Kg — 9,180 — FrRiIRSTHE 38 t 1
HELED M REAR 10 Kg — 2,484 — [F<ELY 6F 1~2E|%

LEY 140E T AYH 17 Kg — 10,260 — A L 1~2E5
BL=770—Y 40E |kJL3 17 Kg - 4,860 -
Faky 20E BER 5 Kg — 3,780 —
3 AN Lz 100 g — 810 —
3] Atot (=8 250 g — 400 -
EEHED (=8 250 g — 400 -
ToTARAOY 2L & 5 Kg - 4,644 -
TFUTARAOY 2L |EER 5 Kg — 4,104 —
FAAOL 2L 5371 5 Kg — 4,644 -
ArAAQY LA BRI 5 Kg — 3,888 —
FULVvA 2L BER 15 Kg — 7,020 —
FULvH L FE 13 Kg — 6,480 —
$CrEFE L RIL 8 Kg — 5,940 — hefRMIcREe
INTF J4)EY 13 Kg — 3,456 -
ATV TIL 5F | 74VEY 10 Kg — 2,592 — B =
RERRTHE 35t 18
FAAOL 2L IMES
eI RE




